應用機率模型作業6解答
Question1 P360 Q44 
Question2 P365 Q71
[bookmark: _GoBack]Question3 P369 Q89
1.
(a)



(b)



2.





3.


oleObject2.bin

image3.wmf
101

01

01

P(())P(()|())P(())

                           P(()|())P(())

                           P(())P(())

                   

N(t)N(t)

ii

ini

n

i

ni

n

(i)

ni

gSxgSxNtnNtn

gSxNtnNtn

gUxNtn

¥

===

¥

==

¥

==

<=<==

=<==

=<=

ååå

åå

åå

01

011

()()

11

        P(())P(())

                           P(()|())P(())

P(())

()().

n

i

ni

N(t)N(t)

ii

nii

NtNt

L

ii

ii

gUxNtn

gUxNtnNtngUx

gSgU

¥

==

¥

===

==

=<=

=<===<

Þº

åå

ååå

åå


oleObject3.bin

image4.wmf
()()

11

0

0

()()()

111

E(())E(())

                    E(())E(())

1

                    ()

                    ()

Var(())EVar(()|())VarE(()|

NtNt

ii

ii

i

t

ii

t

NtNtNt

iii

iii

gSgU

NtgU

tgudu

t

gxdx

gSgSNtgSN

l

l

==

===

=

=

=

=

=+

åå

ò

ò

ååå

2

222

2

0

())

                       E(())Var(())(())(

(()))

                       (())((()))((()))

                      ().

ii

iii

t

t

NtgUVarNtEgU

tEgUEgUtEgU

gxdx

ll

l

=+

éù

=-+

ëû

=

ò


oleObject4.bin

image5.wmf
121323

1233

Let denote th component survival times,1
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Let denote waiting time of type  shock,~
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Let W be the total waiting time and () b

e the number of event occur in time .
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Let  be the total waiting time and  be t

he waiting time of the first car.
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